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0 Every SCC has exactly one node w parentnot Tsrside SEC in a DFS tree
DFS from any node in sink component returnsall nodes in that SCC and no others
Last vertex in post order G is in source componen

Last vertex in post order reu G is in the
sink component

do post order of rev Cr
DFS on node w highest post orderG
repeat for any unvisited nodes

taking highest node as DFS
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Shortest pathsGiven source s target E
find shortest path from stot

Given source s find shortest
path to all targets t

single source shortest path Csssp
Given source 5 find lengths ofshortest path to all targets E
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Shortestpatht rooted at source

wigggy free path to any t is shortest
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If edges are unweighted
BFS
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For us in topo order of A
SPG u min SPC t Kyu

u

parentffargmin SPG Dt lb u

out E
g

s a

Dijkstra
i 3id ye 10b e G
i l

44 f 16
4 9C 5

2 c 11
Finished nodes have exact SP length
Unfinished nodes don't n n n

Relax edges from finished to unfinishednodes
closest unfinished node can be marked

finished
Dishmstaffe all nodes unfinished OcuInit Dist GEO DIST Cu 00
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